"EIERIFE~TE (T

T B | €8 v s ¥ 8 L1°¢€ LHOCHVIHV | #HOTHSTHVY - &HCTHVIHTP 0¢€
HEHXHEY | 99 L8°§ L9 61 °¢ £H0TH L HZI | £48 HS HZI - £122H9 HZI | 63
HEHXEY | L2 €6 T By 82 ¢ £08 H6ZHI £UZZHOS HT - 10 H6ZHT 87
Y Y H ) 9V °g ¥ 8 ve e £H0THOS HS | #H8STHOSHS - £#2 HOSHS LZ
¥ Y T°0T e 86 P g LHVT HOZ HST | £49 HEez Hal — £HVI HOZHZT | 92
HHEHYHEY | €2 60 °G <) 96 ¢ LHOT HOT H 1 £H0 HZIHT - £ugzde6 HT g%
HHHYHEY | €2 8T °S 9-°L 9G ‘g £H8 HSTHI £10 HOTHT - £12 HSIHT 4
EWHYEY | €°8 €0 'S ) 86 ¢ £HST HPZ el | #4102 HSZ H 2T — £10 H¥PZ H ST | €3
LOZeTHE | 8°L 99 °g L. 89 ¢ NPT HOT HOT | £48T H LT HOT — £09T HST HOT | 22
EWISTHEY | 6°L P g 8L gL ¢ £00 H6T H1T LHSTHG6T HT — HU9THLT HT 12
T Y S8 6G G S 6 9L °¢ L4V H6THIT | £40 HEz H 11 — £z HSIHIT | 03
LQTeTWE | ¥°8 00 "9 €8 16 °¢€ £HCTHOT H6 | £HCCHLTH6 - £U2THO9T H6 61
EWAYHEY | L2 6G G L8 01 ‘¥ £H0ZHITHZ | #HO0THZIHZ - #£10 HITHZ 8T
EWAYHEY | 2L €L°g €°8 8T ¥ £19 HYTHE | #HPTHLIHE - £122HEI HE L1
EWTHYHEY | L2 6G 9 78 4 £OTHOT HZ | #MPTHLIHZ - £10Z2HSIHZ 9T
HEWHYHS | 8°8 ) €6 9g ¥ £40 HE HZ | &% H9 HZ - %19 HZ HZ g1
W THLH | 9°8 98 9 9-°8 0L°¥ LUVIHIZHE | &4 HVZHE - £H0Z2HOZHE Al
Y Y H 6°8 ov "L G -8 8LV L£HOTHOT HIT | £HSTHETHIT — &4V HOI HIT | €T
HEHXESY | L2 86 "L £°8 €0 °S £UHOTHVZ HZ | £19 H9Z2 HE - %122 HSI HZ 21
Y Y H 81T 96 '8 Z°6 60 °S £HZZHZT HOT | £49 HPTHOT — £STHIT HOT | TT
EWISHEY | 1701 ¥9 "L 86 e 'S £HZCHLZHTT | #133 HTIS HE1 — £102H9Z gl | 0T
HEW WY | 96 v 6 Z 0T 1679 LHST HOC H 1T | #HVI HEZ HCI — HHOTHSZHIT | 6
HYW MW L A—E | S76 G5 '8 L6 ¥S°g £02 HS8 HV | £ HOTHY - &£HVIHL HY 8
SN #h H 70T 226 9°6 6T °9 £HceHL HTIT | £49 H6 HIT — £H02H9 HIT | L
HEMECT | g0l G0 2T 86 9¢ ‘9 £H0Z HOT H2T | $48T H LT H 21 — £H0 HOT HZI | 9
HEWTXHS | 8°8 oV '6 € 0T 6% 9 L0V HITHE | #MPTHZIHE - £H8THS8 HE g
T Y o G 0T 6S 2T 80T 09 9 £H422 HGZ H T LHCZ HLZHT - HH0CZHVCHT i
HEWTYHS | 60T 86 0T ¥ 0T 98 ‘9 £ He HI LHSTHL HT - &2 HT HT g
T Y A 96 2T 60T €6 L £48 HS HZ | £#48 HOIHZ - &HHVIHL HZ Z
T Y 61T 2z 11 T°TT 96 "L £48 He He | &#4F HVY He - £102H1 K€ T
S (S) M [&( | (W) =70 | (5) M [&( | (W) =5 EiFE e Mo T % o
Zik e 3 ¢ MBEH TMBER Y 3
(Fe~T1) =45€108 il O

EEFE Y T9CV-EH




